£ TE e Syslem containg dwo variableh  avs de cqur insthe Sysfen are

Cubf oo M,f!@ Gt i

{%h Yt M

& T+ s :mg@m%ua ot /«W cngtie all solulians E/C; e treneons Salwkions can

WS#10-6
Systems of ‘Non-linear Equations

Cr&e,{;p i padinaa chl\tmﬂ Ao by adad” ;}f‘“%@m%

1. SGWe by indicated method and name each figure: @, Check. \
A, Substxtutmn mﬂg mmmmmmmm ! - B dﬂ) @" e >( 7> 23
v . ({Sx-yu-fz l (T3 )h@:’\h ‘:)“C ) (J’“\ 0
va EIA N v
ERC AL ij__ilmm.} | a())‘— o >(2%\
O \JV ~7< ] @5\.»\0 Yhese Valw€s [a

(D at -~ e)=e
=7 AT Ik =2 T O
@F’A(%( + Solve For X

Tor" x, A e ug@,at,ﬁlw’am .
Vb2

=y =32 -@(D

Lp\/w 3(2) Fa oz (

%&FE Aty L! soladiond

) &
i}?ft‘]ﬁ(ﬁ %@ ‘9% ﬂfpﬂv”m% f')al(:b“lLIOAs ATC
B. Ehmmatmn r B 3\ (9 (@Wl
C[F 4y = 4 aE Q‘—ﬁ?f,
Ll o D (520

O S\N\:“rp\-(“\f q’\rvba\ “‘\AUJ“H

e 'EEN

m)v\
(‘3) whe hese ia et Z«Mb ( s ZBM{? ¢ _

- aolmdﬂom‘%

\F(‘l"' —]/O ""q F?MJCB "r|f\3>x, 2'
..... . i_m.mw W(o (/%__; j::)j) | -
i " e Xi- 227 =2 K =1
l + )/ wlp = O zm:,,;‘n 3 . .
f’y i “‘5)(/ :?3 O lllllll ﬂ»- ._‘....-ﬂ-.;-ﬂ‘"” o
X rx+yt~3y+2=0 ¥ = i-"]_;\/: { {
co 2 ——
x+1+y *y (0 -

0 %ujl,\%c}rwrl,\ 50 59 righd do e =) wCY 4 (\) g(\) L =0
fl:mlmﬂ@n@m Meﬁ"kau X e (0 - ;«g(%% =0
Lo munld. 2V mlu., ‘my( ‘K.) ane ARD \?é = X'w"m}ﬂg
b oo T 0 N—
%;}iw}/ =2 e}(um¥be, Fero bjo in e
—-X - ‘\/ 3 Y + O = O &”DE(Q YD\A\!\N’\“;F' e v;qu)‘nj \:\.\/ Oo

e

"’J\I%;l = O m"?l‘:/w

@Sw\n le r"_m% Vot equ <+ Salve .

=
AR

7

@C»\erk x=-l o7
-1y +(.,ﬂ+(5 3(13;”1 1y

(-1 | 4(‘__,,,,%“0 v




D.  Any method

1% - y?
y = By’

@ re{)‘am.f&‘ xzb\/ YM;‘;\,.L s gg_?,u_
L .

Y- v =

yi=4

NeS

TS R by

\ Aé@:\%w %‘vea 4 é«-fﬁix\i e

i s

@ Can’ JF-F"A—L,MF | S0

erD Praler Mnfm»«ﬂ/{ | o -

( 1) EL () = -5

7) fewiive o
O % +YzoO @ Since biseer fv\w\w“{, {n.CJ ‘HM—
y ~ 7 o 3\/“:3‘(’@”\ L\“% {f\)ﬁ P@e‘ﬂ ge‘:&lw%gﬂ-\
I AN O Feo e, % et
E- : ' T - -
{9x2+4y2=10 ,_,[\ {‘___l } 4@3@;\ V’Al e(p t‘i
L - + Z 40
mull (2 etl/w \:;Y Dot Al Yo Z"'ge " — Gw +M”_{_ﬂ_.‘.lw;‘.f¢ A \
r P . t - ['v -
bx - /22 o o @qSu‘;? ‘-J éy\“\‘{)zzlbe?u >A. » {% Y - lz*a%r{% = Jox
- P ot B SRR A - o’ 7 S
f«wi-%ww 7 o ( ) (ixb{ﬂ(l v +RQTo
/ ¥ -

T rexy = ¢ 2 _(4;“15@ ~-1)=06
g\(/ (9 0‘* s y: %;_é% ,KHO &y . =0 ;(? =0
e A T AVab e Kl

- 1 G =N
2. Thc sum of two numbers is 7 and the difference o of HEir s squdres is 21. Find the numbers.
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An area of 52 square feet is to be enclosed by two squares whose sides are in the ratio of 2:3. Find the
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